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S.No | Subject Questions/Assignment /Paragraphs/Phrase

Q.1 What is the behaviour of Average Fixed Cost as output is
increased? Why is it so?

Q.2 A producer invests his own savings in starting a business and
employs a manager to look after it. Identify the implicit cost and
explicit cost from this information. Explain both implicit and
explicit cost

2 Eco

Q.1 On 31st March, 2015, Cash Book showed a balance of Rs.15,000
as cash at bank, but the Bank Pass Book of the same date showed
that cheques for Rs.1,850, Rs.1,000 and Rs.1,750 respectively had
not been presented for payment; also cheques amounting to
Rs.4,100 paid into the account had not yet been cleared. Find by
means of a Bank Reconciliation Statement the balance shown in
the Pass Book.

Q.2 On 31st March, 2015, Cash Book of Mahesh showed debit bank
balance of Rs.75,000. When compared with the Bank Statement,
following facts were discovered. 30th March, two cheques of
Rs.5,000 and Rs.7,000 were deposited in the bank but were not
realised till date. On 28th March, three cheques of Rs.6,000,
Rs.8,000 and Rs.12,000 were issued but none of these were
presented to the bank for payment. On 31st March, bank credited
Rs.1,250 as interest but this was not recorded in the Cash Book.
Similarly, bank had charged Rs.150 as bank charges but this was not
recorded in the Cash Book Prepare Bank Reconciliation Statement
on 31st March, 2015.

3 Account

Q-1." The army of Genghis Khan was a mixture of diverse people”.
Comment.

Q-2 .Write a brief note on the Gold Rush and reasons for the
growth of Industries in North America.

5 History

Q-1. What is the criticism of Indian secularism? Explain.

6 Pol. Sci
o> Q-2. Differentiate between the powers of Lok Sabha and Rajya Sabha.

Q. 01-Explain the Principles of Biomechanics.

Q. 02-Explain types of body movements:

Flexion-Extension, Abduction-Adduction, Supination - Pronation, Rotation
,Circumduction.

7 PHE

Principal




